-2 RAEK 02-1 -
2 R7A%EX 02-1 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) a2 +7a=0 (2) a?+2a—-15=0
(3) 22+ 10z —11=0 (4) 22 =Tz =0

(5) 22+ 72 —8=0 (6) a> —8a+12=0
(7) a*> =6a—5 (8) 22 — 9z = -8
9) a>+a—12=0 (10) a®*+9a+18 =10
(11) 22 =9z — 18 (12) 22 +82—-20=0

— 13th-note —



-2 RAEK 02-1 -
2 R7A%EX 02-1 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) a2 +7a=0 (2) a?+2a—-15=0
a=0, —7 a=3, —5
(3) 224+ 102 —11=0 (4) 22 =Tz =0
r=—11, 1 x=0,7
(5) 22 +Tr—8=0 (6) a> —8a+12=0
;B:—S’ 1 a:6, 2
(7) a® =6a—5 (8) 22 — 9z = -8
a=>5,1 r=28, 1
9) a>+a—12=0 (10) a®*+9a+18 =10
a=3, —4 a=-3, —6
(11) 22 =9z — 18 (12) 22 +82—-20=0
xr =3, 6 xr = —10, 2

— 13th-note —



-2 RAERX 02-2 -
2 R7ATEX 02-2 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) a®> —Ta—18 =0 (2) a® +6a =0

(3) a*>+9a—10=0 (4) 22+ 22 —15=0
(5) 22 +2x =0 6) a?—a—-12=0
(7) 9z = —2? — 14 (8) 8a = —a® — 16
9) a®? —2a = -1 (10) 2? + 8z = —16
(11) z = —2% + 12 (12) 2> +32=0

— 13th-note —



2 R7ATEX 02-2

WD 2 W FABARERNTHI S0,

(1) a®> —Ta—18 =0

a=9, —2

(3) a2 +9a—10=0

a=—-10, 1
(5) 22 +2x =0
r =0, —2

(11) z = —2? +12

r=—4, 3

-2 RAERX 02-2 -

(  /12) ( 53

(2) a®?+6a =0

a=0, —6

(4) 22 +22x—-15=0

r= —95, 3

6) a> —a—12=0

(12) 22 +3z=0

=0, —3

— 13th-note —

)



-2 RAEK 02-3 -
2 R7A%EX 02-3 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22 =70 —-8=0 (2) 22— 13z +12=0
(3) > +9a =0 (4) 22 4+102 -11=0
(5) 22—-1=0 (6) a®>+9a+8=0
(7) 22 —x =20 (8) 22 = —5x —6
(9) —12a — 11 = a? (10) —5a + 14 = a?
(11) a®> —5a— 14 =0 (12) 22 =10z + 11

— 13th-note —



-2 RAEK 02-3 -
2 R7A%EX 02-3 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22 =72 —8=0 (2) 2% — 13z +12=10
r=38, —1 r =1, 12
(3) a2 +9a =0 (4) 22 4+102 -11=0
a=0, —9 r=—11, 1
(5) 22—-1=0 (6) a®>+9a+8=0
€xr — —]_’ ]_ a,:—8, —]_
(7) 22 — 2 =20 (8) 22 = —5x —6
r =95, —4 r=-2, —3
(9) —12a — 11 = a? (10) —5a + 14 = a?
a=—11, —1 a=2, —7
(11) a®> —5a—14=0 (12) 2% =10z + 11
a="7, —2 r=—1, 11

— 13th-note —



-2 RAERX 02-4 -
2 R7ATEX 02-4 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22 =42 —12=0 (2) a2 +13a+12=0
(3) a2 —6a—T7=0 (4) 22+ 132 +12=0
(5) a®+9a+8=0 (6) 22 —92+8=0
(7) a+20 = a? 8) 22 +z2—-6=0

9) 7a — 10 = a? 10) 2% + 122 = —11
(9)
(11) bz = —22 —4 (12) 22 = -3z +4

— 13th-note —



-2 RAERX 02-4 -
2 R7ATEX 02-4

(12 (
KO 2 TR ERABERNTHE 250,

(1) 22 =42 —12=0 (2) a2 +13a+12=0

r=—2, 6 a=-12, —1

(3) a2 —6a—T7=0 (4) 22+ 132 +12=0
a=7, —1 r=—-12, —1

(5) a®+9a+8=0 6) 22 —92+8=0

a=—8, —1 r=28, 1
(7) a+20=a? 8) 22 4+2—-6=0
a=—4, 5

(10) 2% + 122 = —11

r=—1, —11

(12) 22 = -3z + 4

r=—4, 1

— 13th-note —

)



-2 RAERX 02-5 -
2 R7ATEX 02-5 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22+ 11z +18=0 (2) 22 = T2 —8=0

(3) a2 —-8a+7=0 (4) a®> —12a+11=0
(5) 22 +8x—9=0 (6) a*> —10a — 11 =0
(7) a* +2a =15 (8) 6a — 5 = a?

(9) a> +3a—4=0 (10) 22 +10x — 11 =10
(11) 22+ 92 +18=0 (12) a®> +3a—10=0

— 13th-note —



-2 RAERX 02-5 -
2 R7ATEX 02-5 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22+ 11z +18=0 (2) 22 = T2 —8=0
€Tr — —2’ —9 $:8, —1

(3) a2 —8a+T7=0 (4) a®> —12a+11 =0
a=1"7,1 a=11, 1

(5) 22 +8x—9=0 (6) a®> —10a — 11 =10
r=1, —9 a=11, —1

(7) a* +2a =15 (8) 6a —5 = a?
a — —5, 3 a,:1, 5

(9) a> +3a—4=0 (10) 22 +10x — 11 =10
a=1, —4 r=—11, 1

(11) 22+ 92 +18=0 (12) a®> +3a—10=0
r=—6, —3 a= —>5, 2

— 13th-note —



— 2 RAEHX 02-6 -
2 R7ATEX 02-6 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22 =62 —16 =0 (2) 22 =8z —20=0
(3) 22 —4x+3=0 (4) 22 +2x-12=0
(5) a> —a—20=0 (6) 22 +7x—18=0
(7) a*>+9a—10=0 (8) a?=—8a—7
(9) —da = —a®—4 (10) 10z — 9 = 22
(11) —11z — 10 = 22 (12) 2a = —a® + 3

— 13th-note —



— 2 RAEHX 02-6 -
2 R7ATEX 02-6

(  /12)
WD 2 W FABARERNTHI S0,

(1) 22 =62 —16 =0 (2) 22 =8z —20=0

r=38, — 2 r=—2, 10

(3) 22 —4x+3=0 (4) 22 +2x-12=0

r=3, 1 r=—4, 3

(6) %+ 7z — 18 =0

r=—9, 2

(7) a®>+9a—10 =0

a=-10, 1

(10) 10x — 9 = 22

r=1, 9

(11) —11z — 10 = 22 (12) 2a = —a® +3

r=—10, —1 a= -3, 1

— 13th-note —

(

)



-2 RAEK 02-7 -
2 RAERX 02-7 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) a>+8a+7=0 (2) 22 - 92+ 18 =0
(3) 22 +8x =0 (4) 22 =11z +18=0
(5) 22 +92+18=0 (6) a>+4a—12=0
(7) a®* +13a+12=0 (8) 122 = —22 — 11
(9) —1la — 18 = a? (10) =5z + 14 = 22
(11) a®> +9a + 18 =0 (12) 82 = —a2 — 7

— 13th-note —



- 2 RAERX 02-7 -
2 R77ER 02-7 (/12 ( )

WD 2 W FABARERNTHI S0,

(1) a2 +8a+7=0 (2) 22 - 92+ 18 =0

a:—7’ —1 213:3, 6
(3) 22 +8x =0 (4) 22 =11z +18=0
r =0, — 8 ZUZQ, 2

(5) 224+ 92+ 18 =0 (6) a>+4a—12=0

;B:—?)’ — 6 a,:—6,2

(7) a® +13a+12=0 (8) 122 = —22 - 11

a=-12, —1

(9) —1la — 18 = a? (10) =5z + 14 = 22

a=—9, —2 r= -7, 2

(11) a®> +9a + 18 =0

a=—6, —3

— 13th-note —

)



-2 R7AEHX 02-8 -
2 R7ATEX 02-8 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22 —6x+5=0 (2) a2 +1la—12=0
(3) 22 —6x—16=0 (4) 22+ 132 +12=0
(5) 22 —2x =0 (6) 22 +7x+6 =0
(7) a* = —1la + 12 (8) 22+ 10z = 11
(9) 22+ 7o =18 (10) 2% + 62 = =5
(11) —11la — 10 = a? (12) 2> + 62 +8=0

— 13th-note —



-2 R7AEHX 02-8 -
2 R7ATEX 02-8

( /12) ( 53 )
WD 2WGTEAEZRBAEEANTHE S0,
(1) 22 —=6z+5=0 (2) a*> +1la—12=0
r =25, 1 a=1, —12

(3) 22 — 62— 16 =0 (4) 22+ 132 +12=0

r= —2, 8 r=—12, —1
(5) 22 — 22 =0 6) 22+ Tx+6=0
x =0, 2

r=—6, —1

(7) a* = —1la + 12 (8) 22+ 10z = 11

a=—12, 1 r=—11, 1

(9) 22+ 7z =18

r=—9, 2

(11) —11la — 10 = a? (12) 2> + 62 +8=0

a=-10, —1 r=—4, —2

— 13th-note —



-2 RAEHX 02-9 -
2 R7ATEX 02-9 (  /12) ( 53 )

WD 2 W FABARERNTHI S0,

(1) 22 +62+8=0 (2) a>+Ta+6=0
(3) > —2a—15=0 (4) 22 + 11z +10=0
(5) a> —3a—10=0 (6) 22 — 92 +8 =10
(7) = —2%+20 (8) 22 — 9z = —18
9) 22 —x—-12=0 (10) a®> =2a+ 15

(11) 2a + 15 = a? (12) 92 = —2?

— 13th-note —



-2 RAERX 02-9 -
2 kAEX 02-9 (  /12) ( 53

WD 2 W FABARERNTHI S0,

(1) 22+ 62 +8=0 (2) a2 +7a+6=0

w:—é_‘:’ — 2 a:—6, —1

(3) a> —2a—15=0 (4) 22+ 11z +10=0

a=5, —3 r=-—10, —1

(5) a®> —3a—10=0 (6) 22 —92+8=0

r=28, 1

(8) 22 — 9z = —18

r=3, 6

(9) 22 —2—-12=0 (10) a®> =2a+15

r=4, —3 a=—3, 5
(11) 2a + 15 = a? (12) 9z = —2?
a=95 —3 r=0, —9

— 13th-note —

)



2 X7A%EX 02-10

WD 2 W FABARERNTHI S0,

(1) 22 =10z —11=0

(3) a2 —10a—11=0

(5) a* —ba+6=0

(7) =3z = —2%+10

(9) z* + 5z =6

(11) a?+13a+12=0

-2 RAEA 02-10 -

(  /12) ( 53

(2) 22 —32x—-10=0

(4) 22 +62—-16=0

(6) 22 — 8z +15 =0

(8) a* +6a+8=0

(10) 9z = —2? — 8

(12) 8z + 9 = 22

— 13th-note —

)



2 X7A%EX 02-10

WD 2 W FABARERNTHI S0,

(1) 22 =10z —11=0

r=11, —1

(3) a2 —10a—11=0

a=11, —1

(5) a* —ba+6=0

a=2,3

(7) =3z =—2%+10

r=—2,95
(9) z* + 5z =6
r=—6, 1

(11) a?+13a+12=0

a=-12, —1

-2 RAEA 02-10 -

(  /12) ( 53

(2) 22 —-32x—-10=0

r =295, — 2

(4) 22 +62—-16=0

r= —8, 2

(6) 22 — 8z +15 =0

r =295, 3

(8) a* +6a+8=0

a=—4, —2

(10) 9z = —2? — 8

— 13th-note —

)



